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M FHSY (L2 2N /Bt H)
el BIE HorEx (S &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
He & =322 107,855 108,239 N384
101 @121l 15,158 13,722 1,436
04 J|I2ZtH2E2XNEE S 15,158 13,722 1,436
O23&2 Hitgt MEaXZAME 15,158
A== 66,800& x176 14 11,757
— F=x=g 66,800 *352 x1H 2,338
— A xxe 66,8002 *8L x1H 535
— 2tAH| 3,000 x176L x1H 528
201 Bt A | 43,000 38,820 4,180
01 AFR2 2t 2l Yl 42,700 38,520 4,180
Oget+=gH| 33,780
— XY H(LI2tEH) AlgE2 16,000
— HMAMA T2 K22/
65,000& x12& 780
—UHS3XNZ A AE (Clean-pay) &% & Xl
22l gl 12,000
— ctHEf 300& =10, 0004 3,000
—HEEHD 2,000& *500H4 1,000
— JDel"EEe 2,000& *5004 1,000
ozg=sY 4,800
. LR ECEERE-EPN-
100, 000& *8Y 6 3] 4,800
OA & &Hl S XYl 4,120
— 2l H 2| 4,120
02 3s2g4| 300 300 0
O332=2 % HA 300
—otEa3X&0l SMS EXENoIEx-5 300
202 04| 2,000 2,000 0
01 2LH O HI 2,000 2,000 0
O23&2 € HaesSE g2FA 2,000
203 2P EF | 1,000 1,000 0
03 A=A R =AH| 1,000 1,000 0
OHt HRFA 1,000
405 XH&HF SHI 46,697 52,697 A 6,000
01 AL =S EF SHI 46,697 52,697 A 6,000
O 4t 10,817
— HEE(1H) 700,000 =14 700
—GY=AME 165,000& *x5H 825
—NAS 141,000& *30H4 4,230
— EH X H A 138,000& =104 1,380
—0lsaANe 146,000& =174 2,482
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Hi: 2 (LIS /YBAHT)
Sl IS HET CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—HysR 30,0002 *404 1,200
O2 Xt 16,500
—UEE 250,000 *4H 1,000
—EHE2FAE 220,000 2574 5,500
—NEE 200,000& 504 10,000
OMEIR 9,380
— IR 140,000& =674 9,380
OJIEtHl & 10,000
—JIEt AIR8 25 10,000
S 79,140 94,140 A 15,000
SR e 22 79,140 94,140 A 15,000
201 Yete | 21,460 21,460 0
01 At 22l 19,960 19,960 0
Oget==EH| 18,000
—=SMEXN ¥ EU 2,000
—SSMA NE=SZE+==2 800,000 «20A 16,000
Oo=24d=+¢ 1,960
— e A 70,0003 x7H 42 J| 1,960
02 =224l 1,500 1,500 0
O=2223 & HA 1,500
—SRMHA REE 1,500
202 O4dl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
O HE AEHE AL 2,000
207 A O] 35,680 35,680 0
01 1P gAY 35,680 35,680 0
SE A AEH A 892% XI+40,000& 35,680
401 AIEHI L 2 CHEI 20,000 35,000 A 15,000
01 A& Bl 20,000 35,000 A 15,000
O3RMLH(HE) A2 20,000
NS 2,347,482 1,954,334 393, 148
At Zl 2,112,482 1,936,834 175,648
101 1A Hl 27,966 25,318 2,648
04 JIZHHZ2XRHESE S+ 27,966 25,318 2,648
O&EAMZZ 22 27,966
— &O20] 2 2= 15,158
l2s 66,8003 x 176 «1H 11,757
EIPN RS 66,8003 x35& «1H 2,338
X 66,800 x8 «1H 535
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X ZH -
L= B
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HE - B (3H) - KISAY - BYS il HImEET
2HAH] 3,000 %176 1 528
— Z 02l 12,808
2 66,800& x30 x5 10,020
EIPN RS 66,8003 x6 «5H 2,004
SPNE=, 66,8003 x 12 x5 334
Z2HAMH| 3,000 30 +5H 450
201 Let24d] 1,282,516 1,002,516 280,000
01 At 22l 98,016 98,016 0
Ogt=&H| 98,016
— &AL MYIISE 4,160% x250L »6 01 6,240
A S22 = 30,000
— A 3EA 2 30,000
—&JletdE 22 S al=
1,368,000& »12& 16,416
— AN 22 =+=F 455,000 123 5,460
—EHYBLHALAABIY SRR 4B
825,000& »12& 9,900
02 =224l 1,184,500 904,500 280,000
O3 & HA 724,500
—RUYER= 6,500
SIMERE S 4,000
—&IIAER 200,000
— 4ot R3 84,000
—EAIA 23 70,000
— S M2l 360,000
OAIE ZHI S X 460,000
—=2& F289Y 260,000
— &AM ANEE RANE> 140,000
—HIBUIAE RNES 10,000
— I AYAE SRES 50,000
207 A O] 20,000 0 20,000
01 gip gyl 20,000 0 20,000
OUSSHE=TME S J|=2H 20,000
401 AIEHI L 2] 782,000 659,000 123,000
01 A& Bl 779,000 656,000 123,000
OBMEH AANEHA 20,000
O2%,23 &« SHsS FA 2AZFH (18HLA) 160,000
OA#E Xot=x& &l 135,000
OANE =X32 s &X 60,000
OBM HUX & 19,000
OxZd =+ 2l 85,000
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